KBTI ERZ B SPE AR B Gat R
HRGEHEA | 105457

# 5 AEE (FTBGEREARE ) HIR

HAMKOR AR =t
iR 0 0
AE] 0 0
BE 0 0
B[a] 0 0
s 0 0
=18 0 0
B 0.00% 0.00%
%I S ST R P Z AT BGEA R it 7 AR T G RA RE B
B ETBUARAIA
HASCR AR E =11
iR 0 0
fAE] 0 0
®E 0 0
B[a] 2 2
BEZEF R 0 0
9 (DI E RS 0 0
o Q5% RIEA[E] 0 0
AREY) 0 0
=118 2 2
FEEE 0.00% 0.00%
BSE (GURFHEE) 0.00% 0.00%




HEMEABRAE

PR B EERE &3

iR 0 0 0 0

iE 2 0 0 2

] 7 2 0 9

# (DFEH 0 0 0 0
o Q5% RfFEARE 2 0 1 3
INET(142) 2 0 1 3

&3 11 2 1 14
S 18.18% 0.00% 100.00% 21.43%
BR (GUk#HEE) 18.18% 0.00% 100.00% 21.43%

* TREMEETE | TR B S A A SR 33 R 1R E AT A RS B n TR R 38 15 &

= = 1T BUABE AR

P RS S| HAE A =t

Nz 0 0 0 0

vl 2 4 1 7

] 0 0 0 0

BEE R F 0 ] 0 1

=t 2 5 1 8
6 0.00% 0.00% 0.00% 0.00%




KEHTEERZ G SRERHA B RS R
WRHEH 1 10SE1AES

#h 77 7ABE (ITBGREARE ) HIR

H AR AR ZE =i
FIfE 0 0
] 1 1
BE 0 0
B[] ] 1
6% 0 0
= 2 2
6 ES 0.00% 0.00%
SOE AR S eMET 2 T EERA R T A T B AR B -
S TBUABE AR
H AR AR R =t
FIfg 0 0
i 0 0
e 0 0
v 14 14
R 0 0
5 (A& SR 0 0
o 5L BEA[E 2 )
NEt(1+2) 2 2
=1 16 16
GBS 12.50% 12.50%
BeEE (HkRFEgE) 12.50% 12.50%




BRI EEBR A

PR | EEHE =1

FIfi# 0 0 0 0

i 3 3 0 6

] 57 30 2 89

) (DIeH s | | 0 2
8 QES FEAE 8 10 | 19
INET(142) 9 11 1 21

=T 69 44 3 116
S 13.04% 25.00% 33.33% 18.10%
B (HEHEE) 11.59% 22.73% 33.33% 16.38%

T IRHIETESIE | B IR E E A S 3R | E I aTaAPS B n e g 36 157

B = 1T BUABRFIA

C Yl

HAth & AR

AN

P =

A2 0 0 0 0

vl 14 15 7 36

Ei6a] 0 0 0 0

BEE R F 0 2 0 2

& 14 17 7 38
R 0.00% 0.00% 0.00% 0.00%




